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Uz 1  Mathematics Question paper Model |

UtU% _AAIEAUR bizEz @ik « "AdPv ©EACz. Ez£N _Ea_i2 _A8Az
Union of setsis distributive over intersection is represented by
A) (AUB)N(AUC) B)(AUB)N(ANC) C)(AUB)N(BUC) D) (ANB)U(ANC)

arz® ¥z 2lvi A2iAfi 2vA, a2jivi d Dvgia _2iAAvg +heAil | ARIAEI g/E¥
The general form of AP with first term 'a and common difference'd' is

A)a a-d a+d, -------- B) a,ad, 2ad, --------

C)a a+d,a+2d, ------- D) a ad, ad?, ---

MAZA _2ilgA"z°gia 2icojAilgh ¥g, g P Pi®iQzAU MIA 4950 P

Pi®IPIUYAZg ,RiAgA "z PAdjz@g _ASI

In afunction people greet themselves with shake hands. If the number of shake handsis
4950, then people present there are ------

A) 120 B) 110 C) 100 D) 90

Jggh ¥EUAdAPUY: ® AC3 @i ACz JAlgTz. CaUY% Uit®§ 128 Dzg i _AC 2ivi

®, ACal padaiv

TheLCM Of two numbersis 8timestheir HCF. If their product is 128 then HCFand LCM are
A)2,16 B) 3,18 C)4,32 D) 5, 40

F PUVERIUYS AliA2izA AlIA2AURE C_vi?

Which one of the following isincorrect ?

A) H=A  B)L=B C) A=
L

H D)A=
B L A H B L

B
H

P2+ Q2+r2-pg-qr-pr £z APAv 8Y1 §gzAU
When p2 + q2 +12 - pg — qr — pr is written using X notation we get
A) T p®-pq B) p°+X pq C)Zp(p-q) D)X q(p-q)

a+b+c=2s DzAUl a+b—c Al “FE
Ifa+b+c=2sthenthevalueofa+b-c is
A)O B) 2s C)2s-c D)2(s-c)

EalluliA= CvidAvi zEEqizi
Which one among these is the biggest ?

A)\3 B) 33 C) “V10 D) V2
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9)

10)

11)

12)

13)

14)

15)

16)

17)

K=%mv2 DzAUL‘v* Al “E EALM

IfK=2% mv2 then the value of ‘v ' is

A+t K B+ / K. C)+/ 2m D) + m
2m om K 2K

ax® +bx+c=0 AlA MAZIM thizh alUkd _A«AAPigit@AzAUA

If ax’ + bx+c=0isa pure quadratic equation, then -
A)a=0 B)b=0 C)c=0 D)a+b+c=0

p&q UM 2a% —4a+1=0 All AWERUIAZAUL (p+q)2+4pg £A EE

If p & g are the roots of 2a® —4a + 1 =0 , then the value of (p+q)2+4pq is

A) 2 B) 4 C)6 D)8

5x2 + 13x + k=0 AM MAZIM 2WE@2 ELLAIAZIGH 2havialPE JaMEAVZIE * ki« AM “EE

If one root of 5x% + 13x + k = 0 is equal to the reciprocal of the other, then the value of 'k’ is

A)O B)-6 C)5 D) 6 .
aviziogh el iAapiulit ,? -
In the figure equal tangents are B /
A) AP &AE B) AD & AE ¥' 4
C) AC&AP D) AB & AE /

A
1.4<«hB Jvighecgiiah OMgMUAEA £EgivaEl Gzd 1.2<«cAA EzZE. CzEA AelAARZA® MOZA PAN gizh £EgiU 5.4 <«<AA
Gzi«zigt D PAllgizh Jvigial
If the shadow of a boy with height 1.4 mis 1.2m then the height of a building which cast a shadow of

5.4 m at the same time is
A) 6.1m B) 6.3m C) 7m D) 6m

6 EA <, 8,EA.«il, 10 _FA.<ih AR jallih A, B & C PERAZIcgii®h AUEGHA ViUl ¥igh_igh -~ AclrAV
28 _livizt. oAUAZIGE AABC Al _ivitivt

If three circles of diameter 6cm, 8cm & 10 cm with centres A, B & C touch externally. Then the
perimeter of the A ABC obtained by joining these points is

A) 12cm B) 24cm C) 36cm D) 48cm

MAZA alvizk 2A3 A alivid altvi PAA AUMA ElgMat LAcchviaAzl PEAVARH

The space between Diameter and arc of a circle is

A) alvi RAgh B) ®WW aiviRAgh C) C¢Pi2iviRAgh D) Czid aliviRAg)
A) Segment B) Minorsegment C) Major segment D) Semi segment

MAZM AAAPEWAIR L TQA2IT PAYEA Jvigh 4 Bo.2ve . 9BET8 wEes wyBuRImes e ST
FEAGH +AAPMcER Jvigiel
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18)

19)

20)

21) MAZH OlgAviiph ArAMe T =1 &T =Y

22)

23)

24)

25)

26)

27)

Height of a cylindrical ice cream cup is 4cm. If a cone of same radius is used , then its height is
A) 4/3 cm B) 2cm C) 8cm D) 12cm

MAZM UEEAYAZA 2EAA i «LAED 2l 616 ZA FA.«A ©AUAZIE Czigh 2A4 A
If the surface area of a sphere is 616 sq.cm then its diameter is
A) 7cm B) 7.5cm C) 14cm D) 14.2cm

F PEAVERIUMAS ANARNZAL EnEEACPT WAEAPEWAIL®?

Which one of the following is not a Platonic solid ?

A) ZWMAASR WEA B) ZAZKHBMAR WIEA C) ZBR WEA D) weo ©S

A) tetrahedron B) Dodecahedron C) decahedron D) Hexahedron

EA®A PialAUNVA AASEAUMAM _AalAAvigh ArAlL =2, Cailuih at/vh 20 CAUME alUASUMA 2E/Evh 120 Dz
D AASEAUMAA

Four numbers are in AP. If their sum is 20 and sum of their squares is 120 then the numbers are
A)1,4,7,9 B) 3,5,7,9 C)2,4,6,8 D) 2,4,8,12

L=, 15 DZAUR T, 0h "EE KEM ?

. _ 1 _1 .
In an HP if T7 = /10 &T g~ / 15 then find the value of T10

A=(0 5 200 R THDSB m:se)éommd X 3 363 oaﬁ&)j?

x+10
If A 0 5 is a skew symmetric matrix, then the value of ‘X’ is
X+1 0

«ZM®FE PAAGM> r AlARL  AMEVA “EE.

Write the formula to find the deviation M
3, ACHEM]  PAAGH» rAMASAUL 20 + a3+ 1 + a AEM SgtzMPEAYA EAPAZA

AJAIAZ) phaih ARARKZM?
The order in which 2a® + a 3+ 1 + a is to be written while calculating P, [_ N

HCF is

avizi® APQR Il AN MR DzAUA
CEAghEYL ~ ACMUNA CEMYAVE 8. a
If then write the ratio between its corresponding sides.

AWMU PlakiaAV 3,4,5 DVgiial AABC AM® /B =900 DVzigt «Phtd?l
If the sides of a triangle AABC are 3, 4, 5 with Z/B =90° then its hypotenuse is

A BCD ZiviiMadzA " AMUM O PEAAZIMNA altviPE JYEzA  AASPAUMLAVEE, AB = 8cm & CD = 5cm
Dzigt AD +BC o e3¢5 ey
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The sides of a quadrilateral ABCD are the tangents to a circle with centre O. If AB =8cm and
CD = 5cm then find AD + BC

28)  wdi h2ivk Jvigh r e Sed Bosods BTOBEY?

write the formula to find the volume of a cone with radius ‘h’ and height ‘r *
29) « Ajt MAPEARL : =x2+23yz

Expand and simplify : X2+2% yz

30) A= [3 4] alfvid Bz[l o] DzAUL A+ 2B PlAgii»Ir.

5 6 0 1
IfA:[3 4] and B= (1 0 thenfind A+ 2B
5 6 0 1

31) 60 «zAlydUlA° 48 «zAlydUlM VEERAREMI 27 «zAkyUliM 2A="AREMI DgMvAGE. E£ME
FTORDT) QTR e—saswm& e3ROBYC. TOTWET BRewIe® [P3303 B8RISST ?doaj;g 035'1&)3?

Among 60 students 48 play throw ball and 27 play volley ball. If some of them play both, find the
number of students who play only throw ball.

32) U={0,1,2,3,4,5,6,7,8}A={2 gh UAEPIUWM } B = { 3 gh C¥AalvidoUMM } DzAUL (AUB)*PAAQM

RPN

If U={0,1,2,3,4,56,7,8} A={ Multiples of 2} B ={ factors of 6 } Then find (AUB)! and represent
it in Venn diagram.

33) MRlAAVigh FArAM 3£EA¥IZA 18 CAUME 7EEA ¥izk 30 DzAUA 17 ¥WiziUlA 2E/Avh PAAGH>» I,
If the third term and seventh term of an AP are 18 & 30. Find the sum of 17 terms.

34) Jgighh AASEAUMA _AalAAvigh alAzi 5 CAUME UMuERAVAGH 2UAZIA 4 Dzigt D AASHAUMAA ANA2iRH?
If the AM and GM of two numbers are 5 and 4. Find the numbers

"Ly

If [1 2] [x] = [1]then find the value of x&Yy

1) DzAUl x &y £4 “EE PAAGM »r.
2

2 5]yl |2

36) MAZIA GzA%UguAl 3lAE®@PA "C ="c JAZM VEEAj L.

With an example show that r]Cr = nCn .y

37) _MPEATL: V50 — V98 + V162
Simplify : V50 — V98 + V162

38) bEAzA CPightAPAj L . AAPEARZ: V3+12
Rationalize the denominator and simplify: V3 —2
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39)

40)

41)

42)

43)

44)

45)

46)

47)

48)

(x+6)(x+2)=x DzAUN A«hiPigitzi 2AERUIAEM PAAGM> r—Aj.
Find the roots of the equation ;(x+6) (x+2) =X

240 Q.«cAA zMEgh YARAT A®A MAZM A0kl VEUEZAAPEAYAREL PA®3IN CzAR VAEN 2EAUNBMEM 2 Q.«hA /
0ol oi)rr% ﬁzg’&)éfaomd OFET0ES SRXDOITTNBB). TOWRT &8 D0HIH ﬁedﬁﬁ%?

If a vehicle increases its speed by 2km/h to its initial speed, it will take half an hour less to travel a
distance of 240km. Find its speed.

x2+9=mx £ AMERUIM ¥igh dh IRMEAZIGE ‘m’ £4 “ETE PAAGH » .

If the roots of x* + 9 = mx are equal, find the value of ‘m*

ARERUIM (3 + 2 5) & (3 -2 \5) DVghal 2iUid A«idPight gla.
Construct an quadratic equation with roots (3 + 2 \/5) &(B-2 \/5)

Z4 S oeed mm?geifae 4 T TOIS0E Jeeje é@egé T8 ®.

Construct Cauley’s table on Z, modulo 4 under multiplication.

AedoPAUMA EAoiecth PEEAEIRI 650 EgMAlAVE 3 FA.<«AR wdld@iih 2liviPt Aok ©AzZMi«aiAzZl
AASPAURAEMS JYE—Aj .
Construct two tangents to a circle of radius 3cm from an external point with an angle 65° between them.

35 FA.«hA Jvigicgiial 1=Aqgigh DPEWAML YAVEAIL® 11 °ANgT CA®EMI VIMAS AVzE. F YAVEAM
24| PhAGH> Ir—ij .
A cylinder of height 35cm is completely filled with 11 litres of milk. Calculate its diameter.

APk il At DAEA A £IPE JYE—Aj.

Draw the outline using suitable scale :
To C in meters
250
To D 120 210 A | C

120 200to B B
To E 80 80
FromA
F PEUAVEL EAPEUE DARAQAEA  MEvA CEA—AT VAYE £EFAY,
VAIWAEEAZIL  AAYAVA ©AZM«<EN 2IUAS whst
Apply Euler’s formula to given figure. Write the order of each node.

F alAVIPEAMEAN eA”APEWARAV iEat,
Draw the network of given matrix.

0 3 0
3 0 2
0 2 0
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49)

50)

51)

52)

53)

54)

55)

56)

57)

58)

I\/\IO}BI\L\E\&SC\& @gd(‘igocjl oaai&)s s'jdd@ém& T8N mqﬁzg? @@d%‘g oarq% BROBD
 AgAPAGAUA2AZA DgAA "AUE/EYAAVARE?

How many words can be formed using the letters of the word MOBILE ? How many of them
begins with vowels ?

F PEAVEL 2iVaPkivh YAYAAPIMA 2HAEIPA «ZI®EE PAAGHA» r—Aj.
Calculate the standard deviation of following data.

2 AdAvigh (CI) 1-5 | 6-10[11-15 [16-20
Daltw ( ) 1 2 3 4

2£EA WAVAZA Jglghh ©AeEEAQUINA @l AC 2livid ® AC Uil PidiirAV (a—3) & (a+a®-17a+ 15)
DVa. D Jglgief WAViZA ©Aet/AAQUIAEMS PAAQM» r—Aj .

The HCF & LCM of two 2nd degree expressions are (a —3) & (a3 +a’-17a+ 15). Find the
expressions.

x+ 1 =13 DzAUk x>+ 1 EEPlAgi»r—ij

If X then find the value of x3

M& 2)aQAMA vAagliah MACAZL 8 Q.«<AA Guigitt ZAi°1 C=Azh Y/EISPE wyldV 5 Q.<cAA £lgfzM
aifveEatiy JgiPE wollV 4 Q.«AA FigizM FAAVIgh YMEL JgiPE 10 Q.<«AA ElgfzigE CRIEM ot/
a%'g&od 5OV @;gé& 5loVIN] 5@§ RRT ﬁ*@“?

A man walks 8km due north then 5 km East and turns left then walk 4km and finally turns left
and walk 10km. How far is he from starting point ?

avizh® xy & PC UL altviPE J4zA _ AtASPAUMYAA
ZXPY =90° JAZM VEEAjL P
In the figure, XY & PC are tangents to the circle.
Prove that ZXPY = 90°

X c Y
MAZAM UMuEEAVIgh HAr Al aEEZA® Mg YiZAUWA 2EEVIPAE 2E/Zi® Dgid YAzAUWA 2EEVIPAE Eghial
CEMYAVA 125:152 DzigE | A2UAEIE CEM¥AVA PAQMA » .
If the ratio between first three terms and first six terms of GP is 125 : 152. Find the common ratio.
ledighe  wAdUMA «TATSUMAL CoHUMA CEMGVE¥E ®A LAAENWUIA 20UASUNA CEM¥AVIZA® gldvizE.
JOzik Ac,
Provet that area of similar triangles are proportional to square of their corresponding altitudes.
x? +2x—3=0 A<APightzh £4PE ©r1/Draw the graph of :x?+2x—3=0

PEAAZAUMA EAqiictl CAVIgh 7 EA.<cAA CAUME wdUlilh 4.5 FA.«AA 3livid 3.5 FA.«AA Egiial Jglgit
lfviUAUE £EAGh  AGNAEAL  AAGPAUMAEMSE JYE—A .
Draw two circles of radii 4.5cm and 3.5cm with their centres 7cm apart. Construct DCT.

kkkkkhkkkkkk
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UM zA I Mathematics Question paper Model 11

SOM DAFA VisHUAAA: - 1x20
1) n(A) =4 &n(AY) = 8 Dzigf «slUitzA=glial VluAAHUA AASER / If n (A) = 4 & n(AY) = 8 then n(U) is
A) 4 B) 8 C) 12 D) 16

2) T =3x4"" DzAUk UlueAvigh £Ar AMA
Which one of the following are the terms of T.= 3x4"™
A)3,12,18 B)3,12,48 C)3,12,24 D)3,12,26

1

3) A=[1 2 3] & B= (1] Dzl AB Al ATAMA
2 then order of AB is
3
A) 1x3 B) 3x1 C) 3x3 D) 1x1

4)  °p =120DzAUr £ EE/ 1f °P =120then ris
A) 4 B)5 C)dor5 D)-5

5) (a®2-9) & (a®+6a+9) EalUili 3ii. A.C 3/ The HCF of (a2 -9) & (a’+ 6a + 9) is
A)a+3 B)a-3 C)(a+3)(a-3) D) (a+ 3)° (a—3)

6) Jolghh ©AeEEAQUIA M. A.C alvid C.,A.C Uik PialiaAV 4xy? & 8x3y5 Dzigt D ©AetAAQUANAA
The expressions with HCF & LCM as 4xy2 & 8x3y5 is
A) 4x%y° & 8x%y?  B) 4xy® & 8x°y? C)4x%y° & 8xy® D) 4y° & 8y?

7) Ya(@a—b+c) M « AJT AAPEAT 1ZAUN Sgldal EE
When X a(a-b+c)is exanded and simplified we get
A) a® + b? + ¢? B) 1 C) ab + bc+ ca D)0

8) (2 +y?+xy) vk (x—y) Al ULE®SzA “EH/ The product of (x2 +y? + xy ) & (x -y ) is
A) (x-y)?® B) (x+y)?® C)x*+y>  D)x*-y?

9) 3V5 & V7 gh UAE®S 2iFill WAVAAPIgiEYiZA® 2igPhvir 1zAUk
The product of 3V5 & V7 in the form of index is
1 s v 1/3
A) 3 (35) B) 2 (35) C) 35(2) D)2(35)

10)  #ilizh 2lUid  AABPigitzh DZAtidgME¥/ The standard form of a pure quadratic equation is
A)ax’*+bx+c=0 B) ax? = -c C) ax = — cx D)ax?+bx=0

11)  x?>=5x Dzigt x £A "EE/ If x% = 5x then the value of ‘ x ' are
A) 0 B)0&5 C)5 D)0&-5
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12) (3 +£+2) aMERUIEM) SFEAC AR alUlD AccAAPigit
Quadratic equation with roots (3 +V2)is
A) x> +6x—-7=0 B) x> —6x + 7 =0 C)x>+6x—-7=0 D)x?-6x—-7=0

13) O ;oeasag SCE BReSTT BTSOOD 0B TOETesdodD 5§053~g\3;’ BoYETeasodn (-3.9)
VAR (1, 1) OAZAUKA® ¥AgACA®AMBAEAAT PAVAJ  AAVAZE. ©AUAZAGE D  A«AAPAAE
In a graph, straight line intersects the parabola at(-3,9) & (1, 1) Then the equation is
A) x?>-2x+3=0 B) x?+2x-3=0 C) x?>-3x+2=0 D) x?—2x-3=0

14)  AB & CD eAdUMM ¥igh dgh ielieAvar, PrAAZICAZL eAd AB UE Egiddl ziEgh 3 . 5 EA.«AA Dzigk
eAi AB & CD Ut £hgii<th zMEQh
AB & CD are two equal chords in a circle. If the distance from chord AB to the centre is

3. 5cm, then distance between AB & CD is
A) 7cm B) 3.5cm C)4.5cm D) 7 .5cm

15) AABC Il ADEF. BC=2.5 AABC AM «TAtd 120 Zh [A.«hA Dzigf A DEF £i «TATS.

EF 5
AABC lll ADEF; If BC=2.5 and area of AABC = 120 sg cm then ADEF is
A) 240 sgcm B) 120 sqcm C) 840 sgcm D) 480 sgcm
16) O PEAAZI«gM@l 2jfviPE APB AMA P ©AZM«aiAzh J¥fzh IhoPirAVZE, o
QPB =60° Dzlgf ~/PQO=— < >
In the figure, APB is a tangent. If ZQPB =60° then /PQO = A P B
A) 60° B) 30° C) 90° D) 120°
17)  avizi® PQ &PR AdPIUMM QPR = 50° Dzigf £ QOP Clivk
In the adjoining figure, PQ & PT are tangents.
If ZQPR =50° then ZQOP is —
A) 500 B) 65° C) 80° D) 130°
18)  MAZEA wd 2ilvid Jvigiccghial thAPM aldvid 1 AqigTUMA WAERA®UI Elgidectd | AA§'?3\2A
Relation between a cone and a cylinder with same radius and height is
A) HAPM =1°AqigT  B) 3HAPM =1°AgigT  C) #APM =31 °Agigi’ D) J®2IC _Aj
A) cone = cylinder B) 3 cone = cylinder C) cone =3 cylinder D) All the above
19)  MAZM (FEA®GTEN ¥AZIZA 2EAR B «1AEd 5 Zh.«M EzE. Czi 1000 Zh« M .« TAES?MA MAZM
afitz ALIPIEMD YAEWO Phech A®A VEUEZARPEEYARL  MVARUMA AASER
The lateral surface area of a roller is 5sgm. Find the number of revolutions that it does

to cover a feild of 000 sgm
A) 100 B) 200 C) 50 D) 500

20) F eA APEwAIL “'E, A AAYAVA ©AZMUMM
In the figure, number of odd nodes is — D C
A) 3 B) 2 O)1 D)0
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21) %EZI® ¥izh *a'  ASWALE CEM¥AVA * r* DzAUA Soo Al EE 1x10

If a & r are the first term and common ratio then Sco is

22) 2 2ivid 8 gh _felAAvigh 2AzM PIAgM»r—Aj./ Find the AM between 2 & 8
23) M=(5 6 ) Dzt M—M* £ EE
[— 1 ] findM—-M1
24)  zivAAHUMA 2HA T SEA UMUAAPA PAAGM>> r AL IEVA
Write the formula to find the coefficient of Variation.
25)  (6x—12) & (6X° - 24) TY ©.m.0 om)?
Find the LCM of (6x — 12) & (6x? — 24)
26) Xm=0 Dzigf [(n+p p ) f£AEE
Find the value of ][m+nj fXm=0
27)  avizh CANMCAZL ¥VEED 2HAr].
Fill in the blank with suitable answer based on given figure.
AB = AQ C
AC 1
28)  DAlvizk Pitdal 17 A «iA Czigh MAZM ~ACIA 15 A «iR Ezigt 3liviEAZI ~ACM«EL Clive
Calculate the bredth of a rectangle whose length and diagonal are 17cm ansd 15cm.
29)  JolgMh wMdUMA _jeMPEEAAARUMAZIGE, C2AUMA CEMVEY " ACMUMA
If two triangles are equiangular, then their corresponding sides are ——-
30).  CziBUEAAUzZA ¥AHd aEAA Bif «TAtd PAAG> rAlARal vk
Write the formula to find the lateral surface area of hemisphere.
.  31)A={3,4,56,7},B={4,56,8}& C={5,6,7,8} Dzlgt AN(BUC) AMEM
ALY EIPEAM 2UAERPA VEEAJ L. 2x16
Draw the Venn diagram of An(BUC). GivenA={3,4,5,6,7},B={4,5,6,81& C={5,6,7,8}
32) 230 ma\qsé@edw ﬁojxémcsea e 60 dﬁo am5®€ﬁ§o 33236563 WCH&TOBYT. Fe 25 d*’
«zAky UM £AIPA alivid £Avid JgAqAﬁE PAA\AAéPAaAAUA%A° - UAURRb> MVAGE °AUAZIGE £AIPIZA® aA\AvA
“AUkRl> jaiaigh AASER PRAQHA» r—iAj.
In a school day program 60% students participate in dance, 25% in drama and dance. Find the
percentage of students who participate in drama only.
33)  MAzi OAgAvAaPA #hrAlhe T, =2/ &T, =2, D2k T, Sl PlAGS r—Aj.
IfT,= / & T, / then find TlO of HP
34)  MAzM aEAAfEA AL 7 YENUEURYZRE, QuAEEMA 2EEZAREER ¥ENUEAM® 2 UEEA° UMM, JglgheEA YEnUEAA® 4
UEAA= U 2iAvAR aM/EQAEEA MENUEAMA® 8 UREA° UMM »AUE ofa MvA otEAzZIgE J7A ¥nUEUA° °AQzh
ey ) ?doao"zg @a’s}%?
7 boxes are kept on a table. Kran put one marble in first box, 2 in Il box, 4 in 1l box and so on.
Find the total number of marble that are required to keep in boxes with same order.
35) = [2 1 ] Dzigt A2+ A PlAG »r—ij.
3 0. then findA®+A
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36)
37)
38)

39)

40)

41)

42)

43)

44)
45)

46)

47)
48)

49)

4 a)?,ard%;g% 5 RO @a’q% Socp’n’eég% &%d&é@%mmm?
In how many ways 5 people can be seated in 4 chairs.
(2Vx —y) £l (3 Vx + 4 \y) oAzk PHEA].
Subtract (2Vx — V) from (3 VX + 4 y)
53 bEAziRifAl CPigHtAPIgiEUREL L AAPEAY 1
V10— 5 Rationalize the denominator and simplify.
MAZM DAMVAPAgizA OEE®zA Mvidive 54 EA.«lA Czigh « 1AL 180 Zi. FA.«AA DZigf oHE®zL Gzk 2livid
CUI® PAAGIA » r—ij.
The perimeter and area of a rectangular field are 54 cm and 180 sqg cm, Find its length & bredth.
(m+8)2-5=31 _I«APigitaigiii ora.
Solve for ‘m* :(m+8)2—5=31
X + 6=5Dzigf ‘ x* £Ml orz
X find X
2m?— 4m +1=0 k«AAPigitzh BMERUIM a & b UMAZAUL 1 + 1 PiAgii» r—ij.
a’? b2
If a & b are the roots of 2m°—4m+1=0 the find the value of 1+ 1
a’? b2
F ofAvPt AJAEAR? VAE? PAgit PEEr/ Say true or false and give reason:
a) 9 =23 (mod 12)
b) What is the value of (6 ©,3)3 3 7)?
3 fA.«hA wdd«giidh 2ivizi® 4 . 5 FA.«MA eAd gla, eAdzh CAVIBOAZMUIA®  AHOPAUMAEM gia1f.
Draw a‘cir‘qle qf r\a‘di\us 3cm andlcon“s}rupt tangents at the Qnd ,poir]t~s of \a/cho‘rc‘j Qf Iepgth 4.5cm
MAZA tAAPM«ER WAEA¥A® 616 WA. . EA.«AA ¥AZIZA «TATD 154 Z). . EA.«AA DzAE JvAgh PAAGAA »r—Aj.
Volume of a cone is 616 sqgcm. If the area of its base is 154 sqcm, find its height.
ML vielATZEEAGUE PEAVEL CYAVEUE CEM AgieAV de«hhath £1PE glaj.
Draw the outline using suitable scale.
D Uf «AARgY UWA® /To in meters

100
c Ut 30 80
B UF 40 30
A —hAZL /from 7 B

eA APEWLE IABAGLZA alAVERE glat j.

Write the matrix for the following graph.

wId¥AZL Y IPizh PIZA £IPE gla, DARGAEA MEvk CEA—AT VAL £EAEAT,

Draw the triangle based prism and apply the Euler’s formula.

MAZM ¥NUEAM® 4oA 2iivih 5 PEAYIA Stzd UEEASUMRRE. ¥EnUE—AAZA VEUEAMARL 6 UEEAUMA® 2W/Egid
Qeey BRLITBTSTOD oD_o':S;% Sacp’ﬁ%fg\% d@e@ﬁ%’ﬁo& BRTITONWBOTO? 3IX6

A box contains 4 blue and 5 red marbles. | n how many ways 6 marbles can be drawn so taht 3 of
them are blue ?
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50)

51)

52)

53)

54)

55)
56)

57)

58)

F PEVAUE PEENQML <«2iglufAM HAEIPY «ZA®EE PAAGM» Ir—Aj.
Find the standard deviation for the following data.

X 10 15 20 25 30 35

f 3 8 5 9 4 1

Jyigil ©AeEEAQUIA 2. A.C allvih ®. A.C UMA PidiirAV (x — 3) vl (x3 — 5x% — 2x + 24) CAUME
MAZIA ©RetAAQ (x? — 7x + 12) Dzigf E£EEIAZM ©AeEEAQ PiAGH» r—Aj.

The HCF and LCM of two algebraic expressions are( x — 3) & (x3 —5X%—2x + 24) .If one
expression is ( x? — 7x + 12) find the other.

xy (x +y) =1 DzAUA 1 —x3-y3=3 JAZd Act

Then show that xy3

VA dizh® MAZM Pied?ll EELAIAZM PAES2N 2 : 1 CEMYAVIZA® « AV Mvizk. [RNAAvigh " ACMUMA® MAZM
E£EEAZIGh JgighghTTzE JAZA VEEAJ L.

In a trapezium one of its diagonal divides the other in the ratio 2 : 1. Show that of its parallal side
is twice the other.

A, B ,C & D PRAZIVAIA 3 EA. «ih wolawgiiah 4 aliviliui aviziegiiaiav 128 Mviet. ABCD @lUiazi
Deor e,aﬁ%?

Four circles with centre A, B, C & D are of radii 3cm touch externally as shown in the figure. Find
the area of ABCD square.

JelAAvigh +EAr Al 5 ££A ¥izh 2livid 10£EA ¥iZIUKA 1 2 WiRHATZAS2ET = 36 Dzt D #Ar §gt. 4x4
The fifth and 10th terms of AP are in the ratio 1 : 2. If T , = 36 then write the sequence.

y=Y% x2 £t glat, V10 gh EEANEM PAAGH » r—ij.

Draw the graph ofy =% x 2 and find the value of V10

PEAAZAUMA CAvigiel 9 . FA.«AA EgiAVE 3.5 FA.«AR wd&@ilid Jgigit A2io iaih aliviUivaU 2idvi, A
AdiAgia itopiuidgiil gla.

Draw two congruent circles of radii 3.5cm with their centres 9cm apart. Construct TCT.

MAZM ®ASPLEAEL W MdzA° «Pitdzh 2iUAS2H GYazbgigid ~ACMUMA 2IUIBUMA aEaviPE lali2AVliviz JAZI
Ac

In aright angled triangle ,prove that sugare on the hypotenuse is equal to sum of the squres on
other two sides.
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UM ZA 111 Mathematics Question paper Model 111

1) For any sets A, B and C, (AUB)UC = AU(BUC) represents —— property.
A B 2ivi C UvilUtU%AzAU, (AUB)UC = AU(BUC)------- oAilaEN Yam ¢ ivz,
A) Associative B) Commutative  C) Distributive D) Closure
A) . CavdoiAil  B) ¥javoopAih  C) «"AdP D) D&iv
2) First term of a GP is 4 and common ratio is 2 then 5" term is
MAZA UluZAvg +BEAIL 2EZz@FEA ¥z 4 2ivh _ARIAEI CER¥AV 2 Dzg 5EA ¥z
A) 8 B) 16 C) 32 D) 64
3) A & A are the matrix and its transpose. Then A +A! is always
A& AUk 2ikviP @lvii Czg, YiMvjtz 2ilviPUYA Dzg A +AAIARAURE MAZA  2jAviP
A) Skew symmetric matrix/Q=ez> Be0a0s8 B) Symmetric matrix/, Si«iw
C) Null matrix /+£Ei D) Identity matrix/C£E£:
4) If two expressions are prime to each other, then HCF of them is
Jggh ©heFAQUYA ¥g_ g C« "AdiUvAzg, CaIUY: @i AC -----
A)0 B)-1 C)1 D) +1
5) The value of > a(b—c)is/ X a(b-c)g ,AQ¥ gA¥
Al B)-1 C)0 D) -2
6) a+b+c=2sthen2s-2bisequalto ——-/a+b+c=2sDzg 2s-2bg "~
A)a+b-c B)atc-b C)b+c-a D)a-b-c
7) Rationalizing factor of m ~Jp +q is /g CPgtPigPa
ANp-¢g B)ym~p-g
Cp+q D) m p+q
8) Which of the following is a pure quadratic equation ?
Ealuye #iz) aUd _«iiPgt AiiA2izi?
A)x+2=5 B) 2x* =72 C)x(x-1)=0 D)x*-27=0
9) The value of ‘k’ in the equation x? — 2x + (k + 3) = 0 has one root equal to zero
x?—2x+ (k+3) =0 «iPgtz° MAzA 2i£®3 0 DVzg ‘K’ £ ~
A) 0 B) 1 C)-3 D) 3
10)  Number of tangents that can be drawn to a circle from an external point is
MAZA “"A9i ©OAzZi«aAz 2P JVAIREPizAz +8PUY: ASI A
A)3 B) 3 C)4 D)5
11)  In the adjoining figure, AD :AB=1:5
and CE = 20cms, then the value of ‘X’ is
ava® AD:AB=1:5&CE=20cms,DzgxX’E *~
Al B) 4 C)5 D) 25 B
12)  Formula to find the volume of a hemisphere is
MAZA Czd UEA®z WE ¥® PAQh »rAilid Avee

A) 311r*h B) 4 [1r*h C)4Tllr D) 311
4 3 3 4
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13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

A regualr polyhedran with regual pentagonal faces is called
oAil«ly ¥AZ “leAPWAILEL 2URUYAV CEACI® §CIalIR WE

A) Tetrahedran B) Hexahedran C) Dodecahedran D) Icosa hedran

A) ZWIAIASR WIEA B) e @S C)  zAZIBMAR WAEAD) «Adhw WAEA b

In the figure, AB, BC and AD are the tangents to the circle. A

AR = 3cms, BQ = 5cms then AB is 3 5

ava® AB, BC 2ivi AD UYd &vP J¥iz _+0PUYA AR = 3cms, BQ = 5cms

DzAU AB £ Clv

A) 5cms B) 15cms C) 8cms D) 2cms D

Total surface area of two identical solid hemispheres is 600cm?.

The area of the sphere formed by them is

Jggh 28,2k CzAUEMNUY: MIA ¥AEES 2 i «1Atd 600cm? Dzg ¥AtAUEMN:z 2A i
<«

A) 600cm? B) 400cm? C) 300cm? D) 200cm?

If K =% mv? then the value of ‘v’ is

K=%mvDzAl ‘v £

A) + ij_K B) i@ C) i\lz_K D) idzfim

Sum and product of the equation 3x° —6=0are
3x° - 6=0g 2AEOUY 2£v 2ivi Uit®sa]
A)2,0 B) 0,-2 Cc)-2,0 D)2,-2
There are 10 blue buses to go from Udupi to Bangalore and 5 red buses to come from Bangalore to
Udupi. How many ways one can go and come back to Udupi?
Gqhl—iAz "AUYMEJU ©@EAURL 10 nhe §_ AU%2. AUY%EJoAz GgilU 8g®i 5 PA¥L § Auv2.
NN WONLRIN TN TNT3 YV DT, 0e3ONY WTWID 9
10 5 10 5 15 5 10 15
A) ClX Cl B) P1X Pl C) P1X Pl D) P1X Pl
LCM of (3 —8) and (x* + 2x + 4) is
(x®-8) 2hvi (x* + 2x + 4) U% ®. AC.2

A) x3-23 B) x? - 22 Cx®+22 Dyxt-2°2
In the figure AB, BC and AC are the tangents to the circle with centre O. OL and OM are the
Perpendiculars to the tangents. £B = 70° then ZLOM is A

avae® O 2vPAAZaAB, BC 2ivi AC UVl  +8PUYL.

ZB=70°Dzg ZLOM =

A) 1400 B) 110° C) 90° D) 100 -
Answer the following. 1x10=10

N term of a GP is Tn, common ratio is ‘r’then T _,, is ——- :
UluAhvg +heAil NEA ¥z T 2ivh ARIAEI CER¥AV r” Dzg T, £A ¥z
A, G & H are the AM, GM & HM for any two positive numbers. Then the relation between them
can be written in the form of formula is
A, G ajvi HU% _2ilAvg 2iAzi, Ulukhivg 2iAzi 2ivi ©ghvP 2iAzidhzg CalUY,  A8AzZ
. Evagg.

M C
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23)

24)

25)

26)

27)

28)

29)
30)
1
31)

32)

33)

34)

35)

36)
37)
38)

39)

A=(0 2x |is a skew symmetric matrix, then the value of ‘X’ is
6 + X 0 20T QTN BTN m@ﬁmaﬁ X E T

IF Ais an assumed mean. The value of actual mean can be found out by the formula

A JENRIzA CAzAdA _gA, jAiiAzg ad®iz _ghA, JAIRER PAgi»rAili® _Evee

HCF of : x° — 64 and x* — 16 is / A

(<3 - 64) aivi (x* - 16) E3lU%: 2i._A.C. 2igi? ‘ 12
Using notation — x +y 2 — z + x? — x + z2 can be written as ——- P
—Xx+y2-z+x2-x+7> £l _APAv G¥AiEAV® §gzAU —

In the figure AP tangent = 12cms, OA radius = 5¢cms, then the length of OP is —-
avae® AP _+8P =12cms 2ivi wek OA=5cms Dzg OP £ Cliv —

In the figure, AC 11 DE, then corollary of BPT c
in terms of a,b,c &d is ——- D
ajf® _ 2iAei¥ivvAil GyyailAiiz ¥eég d
a,b,c 2ivid U% £qgi«E _A8AZ 8g—ij. B
Total surface area of a cylinder is —-
MAZA 1°AQjE ¥AED 2 i «1Atd PAgi»rAilld _Avee—-
State converse of Pythagorean theorem/ ¥ixAUEAQ £ ¥&lAilz « Ai2) ¥&lAil 8g.
Answer the following / F PY.VERIUYLEL Gvjz.
A={ra,t},B={c, a,t} find A~B through Venn diagram.
A={ra,t},B={c, a,t}DzAU AnB £l 2£i avae 2E@P VEAjL.
A florist has 110 champak flowers garlands. 50 off jasmine garlands and 30 of each. Find the total
number of garlands with him.
M& CE2ArUE 8% 110 _AlU @F2£L ©FACgia CAgUk2. 50 @i°U CE2£l CEACgia CAguyi
ajvi 30Jggh 8UAIA CEU%ER ©EACgia CAgUyE ER. @AUAZg CRE°gia MIA @AgUuY ASI
eb—’mow 2
S, 1S, =97 : 81Find the common ratio. / S, : S, =97 : 81 Dzg , ARIAE! CEA¥AVAEN
PAgA»Ir—ij.
InaHP, 4"termis 1 and 12" termis 1 Write the HP.

3 27
MAZL ©givP +heAil £AREA ¥z 1 2jivh 12 £ ¥z 1 Dzg ©ghvP +heAilEN Sg—ij.

3 27

Solvefor‘x’:[x2 3} -2 (x 1)=(0 1
4 5 -1 0 6 5 ) ‘XE T PAgh»r—ij.

Write the meaning of "P_and write the formula./ "P_ Ezg , £vaSg.

Find the product of V3 and 3v2 / V3aivi 2 Ule®8 PAGi»Ir-ij.
Solve the equation using formula: x> = 7x + 12 = 0

X2-Tx+12=0 £l _AvaS¥AiLiVL Or1,

Rationalize the denominator and simplify: 2 \5
biz CPgtiPj1 _APAlL : V6 + 2
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40)  The base of a triangle is 4 cms more than its height. Area of the triangle is 48cn? Find its base and
height.
MAZE wadz ¥Azal JvgQAv 4 A «lih ©ZAVz. Czg «*Atd@l 48 Z A «ik Czg ¥hizz GZ
ajvik Jvg2Ell PAgh» r—ij.
41)  If one root of the equation X2 + px + ¢ = 0 is 3 times the other then prove that 3p? = 16q
X% +px + (=0 _«iiPgtz MAZ 2LE@3 E£AEIAZI 21E®Z 3 gTzg 3p? = 16q JAZ _ACL.
42)  Solve /Or1 : (x+4)(x—4)=6x
43)  Find the sum of/ E2IUVEN _APA'1: @) (4@ ,6)®.5 b) (5 ®,4) ® 3
44)  Draw the plan of a field with following data/ F zvAA+U%Az £P gal :
To D in meters
300
275 ToC75
To E 50 200
150 ToB50
100
FromA E
45)  Construct two tangents at the ends of a diameter of a circle of radius 3cms
MAZE 2ivz wek 3 _A «ih Czg @A,z vi¢ ©AzZAUY%® _+dPU%EN gal.
46)  Verify F +V = E + 2 formula for the given polyhedror]. D C
F WEAPWU F+V =E+2 _AEva£AN CE-AT VA% £AAY.
47)  Construct the graph for the given matrix./ F 2iAviPAil eA APw gal.
0 3 0
3 0 2
0 2 3 A B
48)  The curved surface area of a cone is 440cm? and slant height is 10cms. Find radius of the cone.
MAZA +APi«E 2PgdA i PAva®al 440 Z _A «M &ivi Ng Jvg@l 10 _A AF Dzg Czg weP£l
PAQi>»r—ij.
v Answer the following / PYAVE ¥a#)%U Gvjt. 3x6 =18
49)  Aschool has 8 teachers. HM is one among them. A) How many committees of 5 can be formed?
How many of these have HM as a member?
2,030 FSONY 8 kT éiﬁ@m@d ©RTY BRDSTF 2.)T. ©¥) BWOOT 5 BIT DT, FWSNTT,
TRTWDIW? &) YOTH D), BWENTY méoééi%da fado:«agé ?
50)  Inacricket play Arun and Bharath scored average run 70 and 60 and mean deviation 4.2 and 3.0
respectively. Who is more consistent?
Cglui @ivi “"gvi E2g QBmi DIz _gA.j gEMUYA P&2AV 70 2ivh 60 CAUE 2IAEP «Z®EF 4.2
ajyvi 3.0 Dzg AiiAg ©@3°u 1g2ivz ?
51)  Find the HCF of : x3 - 2x? - 13x — 10 and x> — x? — 10x — 8
x3—2x% —13x - 10 vl x> —x? — 10x - 8 E&UY: @k _A.C. 2£l PAGi»r—ij.
52)  Ifa+b+c=0provethat b?—4ac isa perfect square.
a+b+c=0 Dzg b?-4ac MAzA ¥A€32Ud JAZi vAAj.
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53)

54)

55)

56)

57)

58)

In an equilateral AABC; AN L BC prove that AN? = 3BN?
AABC MAZzL _2j"A°k wadd. AN L BC Dzg AN? = 3BN? JAzi _A¢1,

Three circles with centers A, B and C touch externally. AB = 7cms, BC = 5¢cms and AC= 6¢cms
Find the radius of the circles

A, B 2ivi C PAAZERY, “Ao@iv 25 k& ajEgh aivUviAva, CRIUY PAAzEY £qi«E z/Eg
AB = 7cms, BC = 5cms 2ivi AC= 6cms Dzg D 2ivUY: webU%ER PAQh» r—ij.

Answer the following: 4x4=16

Sum of the six terms of an AP is 345 and difference between 1%t and last term is 55. Find the
terms of the AP

MAZE _2iAAvg +BEAIA 6 ¥zUY% 2/Ev 345, 2Ez® 2ivih PEEAIL ¥zUY 2k, 55 Dzg . 2ilAvg
+heAIER 8g—hj.

Draw the graph of y = x? and y = x + 6 Hence solve the equation x> = x -6 =0
y=x?ajvki y=x+6U% £P gal Czg ,°MiilC¢Az x*—x-6=0 £ii orz,

Construct two TCT to two circles of radii 3.5cms and 2.5cms separated by 4cms measure the
length of the tangent and verify with calculated length.

35 Al @ivik 2.5 Accliwel®l: Jggh 2vU%k 4 | A«lh CAvgzea, CalUkU avi_ | ARiAES
L +OPULEN JYi—Aj.

Two triangles are equiangular, and then their corresponding sides are proportional. Prove

Jggh wadUvh | 2iPERciAiUYAZg CRIUY: CEAQAY¥ “"AClUYA | 2iAEi¥Avzegiva JAZA Act.

kkkkkkkkk
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